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702 Jl=™ 162,718 149,885 12,833
2 162,718 149,885 12,833
O XY 2 16,271,710,653& * 1/100 162,718
& i et 2 31,960 30,432 1,528
[ (A 2 5,400 4,200 1,200
SH2YH|(X 5,400 4,200 1,200
AR =ZH| 4,200 3,000 1,200
EANSIEYERFAY 4,200 3,000 1,200
OFRNM2EHRFAY 350,000& x12& 4,200
NI LHFH| 1,200 1,200 0
AMIYRLHEY 1,200 1,200 0
NI HEHEY 100,000 =128 1,200
o 26,560 26,232 328
Bl (A 2 26,560 26,232 328
2 Bt 16,960 18,432 N1,472
AR 16,960 18,432 A1,472
ot 6,400,000& 6,400
=1 5,000& * 169 = 11  12& 10,560
202 OB 9,600 7,800 1,800
=L I 9,600 7,800 1,800
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A THe2tel
MM HAY2AAH(MHH2e|n)

el J23HI(Me2eln) el dH
=] XN xH cCtel (s =] H HA X A} OH @L‘jl‘:— =2}
_I_}\—I a2 . JT'(QI}I) ° k”—l—/\l'\:s ° lﬂo—n 04|L|._| 0:||/\|-0H S o
OJl2ge—d 50,000& * 16 » 12& 9,600
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